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» Last Sunday we
said that there are
a number of stages
at which there are
no transitional clear
fossils at a number
of key places in the
fossil record, which
are the only real
historical evidence
that evolution has
actually occurred.

That is true

with the Cambrian
explosion, water to
land, bats, birds,
turtles, snakes,
giraffes & humans,
etc.

We said that the
skeptic believes in
miracles without a
God, & has faith
even w/o evidence.
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« We said last week » But today, we are

that we are not going to turn our
going to concern attention to just the
ourselves with the physical evidence
long geological that seems to point
ages for the time to a younger earth
being, but rather & solar system, &
we are going to problems with the
assume those dating systems that

are correct. point to long ages.
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* In examining the
physical aspects

of earth & the solar
system, we will look
at radioactive decay
that is used to date
materials, & we will
examine the objects
in our solar system
as evidence.

» There are actually

other areas that we
could consider but
will not, because we
are limited in time,
but these factors
will be a good start
in the right direction
for our purposes
right now.
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» Relative ages can
be determined by a
study of the strata,
a science known
as stratigraphy.

* But other methods
have also been
developed that
purport to give
us actual ages.

» Many of those
methods rely upon
radioactive decay
to arrive at a date
for an object.

Isotope



[image: image5.png]Radioactive decay rates

The various parent « Carbon-14, for

isotopes have example, decays to
different decay half the starting
rates, expressed amount in about

in half-lives. 5730 years.

daughter
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Radioactive decay of carbon 14 into carbon 12
To learn more:
Youtube: How does radiocarbon dating work - instant egghead #28




[image: image7.png]A few specifics on radioactive decay methods

Method

Parent /
Daughter

Dateable
Materials

Dateable
Range

Carbon /
Carbon

C14/
C12

Some
carbon
atoms

100 -
50,000
years

Potassium /
Argon

K40/
Ard0

Biotite,
volcanic
rock

100,000 -
4.5 billion
years

Uranium /
Lead

U238/
Pb206

Zircons

10 million —
4.5+ billion
years
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+ How much of the parent &

daughter materials were present to start?

- Has the rate of decay remained the

same &/or have there been any disruptions?
- Has any of the parent &/or daughter
material been added to or taken away?






[image: image9.png]Some examples to consider:

« Mount Saint Helens erupted in southern Washington state in March through May of 1980.
Mount Saint Helens is claimed to have originated about 40,000 years ago. Rock samples
from a lava dome within the Mount St Helens crater were dated using the potassium / argon
method. Whole rock samples yielded an age of 350,000 years. When some of the amphibole
minerals in the same rock sample were extracted and analyzed separately, their age was
more than double at 900,000 years. Two mineral samples of a different mineral, pyroxene,
yielded an age of 1,700,000 and 2,800,000 years. But the lava dome is only from spring

of 1980 — about 35 years ago.

« A lava flow exists along the border of Uganda, Zaire and Rwanda, East Africa. That lava
is known to be relatively young, possibly erupted within historical times. But a rubidium /
strontium method age dating yielded 773 million years old.

« Okudaira et al. measured isochron ages of a rock called amphibolite, sampled from
southeast India. With the rubidium / strontium method they obtained an age of 481 million
years but with samarium / neodymium the age was almost double at 824 million years.

« A rock sample was extracted In a volcanic region in Southern India using the lead / lead
method. A whole rock sample yielded an age of 508 million years. With the potassium / argon
method, samples of mica from within the rock yielded an age of 450 million years. Zircons
using the uranium / lead method yielded an age of 572 million years.

« In 1969 Mungo woman was found in Australia, and carbon 14 dated the bone at 19,000
years old, soft tissue at 24,700 years old, and nearby charcoal at 26,500 years. Then, in
1974 Mungo Man was found in the same stratigraphic layer as Mungo woman, about 450
meters away. Using thermo luminescence an age was assigned at 42,000 years old in
1998. Subsequent tests, in 1999, using electron-spin resonance, optically-stimulated
luminescence, thorium / uranium and protactinium / uranium tests yielded an age of
62,000 years.
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* The solar system » Comets are

has comets which relatively small,
orbit the sun & are being about 15
either short-period kilometers or less
comets (less than in size, & they have
200 years) or long- been described as
period comets dirty ice balls or icy
(more than dirt balls. The tail
200 years). points away from

the sun.



[image: image11.png]Comets plus & minus

* Discoveries of * But comets also
comets, including can disintegrate
some that are long- gradually, get
period comets, add burned up by
to the total count: the sun, or plunge

+ November 2014 into a planet or
there were 5,253 moon, which is
known comets. one way these

objects get craters.
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» By the methods
given, all comets
should be gone in
about 4 million
years.

» So why do we still
have comets left if
they’re all supposed
to be gone in about
4 million years.

In order to allow for
short-period comets
to still be around,
new ones are said
to come from the
Kuiper Belt.

New long-period
comets are said to
come from the Oort
Cloud.



[image: image13.png]The Sun & hydrogen bombs

» Since the invention + By observing facts

of the hydrogen about the sun now
bomb in 1952, & making some
astronomers assumptions about
have begun to rates & processes
understand that we can predict the
the Sun is simply future of the sun as
a very, very large well as project its

hydrogen bomb. energy in the past.
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sun paradox

» The projection of
the sun’s output
back in time comes
to the conclusion
that the sun could
not have put out
enough energy to
keep the earth from
being a frozen ice
ball 3.5 billion
years ago.

* With the earth a
frozen ice ball, the
generation of the
first single-celled life
& the evolution of
that life appears
to be a serious
challenge.

« Various solutions

have been offered
over the decades,
but none have been
found satisfactory
by fellow scientists.
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[image: image18.png]Mercury shouldn’t
have a magnetic field

» For those planets » Soin order to have

which have a a magnetic field on
magnetic field, that basis the core
it is assumed to must not be too
have been made small or too large.
from a difference . Mercury’s core is
in rotation of the way too |arge, so it
core from the should not have a
outer mantle. magnetic field...

But it does have one!



[image: image19.png]The Sun, Mercury and Venus,
Linda Elkins-Tanton, 2006, pgs 93-94

Comparing cores

* If we compare

Mercury’s core Mancle
Wlth the core Of Iron core
Earth we see

quite a contrast.

* There is no Mantle
evolutionary Tron core
explanation for
why Mercury has

a magnetic field. Mercury



[image: image20.png]The magnetic field Mercury
should not have is decaying rapidly

» Three space probe + Also consider

measurements that Mercury has,
have confirmed proportionately, 20
that Mercury’s times more sulfur
magnetic field is than earth, but the
decaying rapidly! sulfur should have

* 7.8% (1974-2013). Ibeen Iburned off
ong, long ago.

Having 20 times more sulfur than earth,
proportionately, would say that Mercury is young.



[image: image21.png]Venus rotates backwards on its axis

+ If the planets » There have been
formed at once, in various theories as
a rotating planetary to how Venus was
disk, then all of the reversed to rotate
planets should be on its axis in the
rotating on their opposite direction,
own axis in the but those are both
same direction, wild & unverifiable
but Venus rotates scientifically — they

the other way. remain speculation.



[image: image22.png]For more info on the solar system see:
http://www.icr.org/article/7691

As for the earth & the moon...

» There are a number + At present the moon
of indicators that the  is moving away

earth is young, but from the earth

one which we will at 1.5 inches per
select for our year involving tidal
purposes is the forces, though the
recession rate rate cannot remain
of the moon constant as we
from the earth. project back in time.

The moon would have been
touching the earth 1.4 billion years ago.
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